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Section : General Intelligence

Q.1 Ina certain code language, SUM is coded as 62 and POT is coded as 66. How will HULK be coded as in that language?
Ans x 1. 130

v 2 120

X3 132

X112

QuestionID: 8161611628

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2  Select the option that is related to the third word in the same way as the second word is related to the first word.

Needle : Sew :: Auger: ?

Ans  of 1. Bore
< 2 Dig
< 3 View
#< 4 Feed

Question ID : 8161611630
Status : Marked For Review
Chosen Option : 1
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Q.3  The six faces of a dice have been marked with the letters A, B, C, D, E and F. If A is adjacent to B, C and E, then which
of the following statements is true?

Ans X 1. B is adjacent to E.
' 2. Dis adjacent to F.
/< 3. Alis adjacent to D.
#< 4 Alis adjacent to F.

Question ID : 8161611637

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 =7 9 faw w1w §, ot @ & E R O GO ¢ 3N T wEeT §| 36 HETd e & T Hi

Ans X 1. 3T AMEH
X2 TFs
X 3. FJrar
v o arEEfEEm

Question ID : 8161611635
Status : Answered
Chosen Option : 3

Q.5 Select the Venn diagram that best represents the relationship between the following classes.

Guitar, Instrument, Thermometer
Ans

.

v &)

Question ID : 8161611643
Status : Answered
Chosen Option : 2
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Q.6 Select the option in which the given figure is embedded. (Rotation is not allowed)

il

)

Ans

K2
i,
x| R
S
_ /"’E'\
v | 4B
\ﬁ/

Question ID : 8161611640
Status : Answered
Chosen Option : 4

Q.7 IfAdis the sister of B, C is the father of D. L is the paternal uncle of D and B is the sister of L, then how is A related to
Dq

Ans

7% 1. Paternal grandmother
#< 2. Mother
< 3. Sister

« 4 Paternal aunt

Question ID : 8161611632
Status : Answered
Chosen Option : 1

Q.8  Select the number that can replace the question mark (?) in the following series.
5. 7.23.72,220,9
Ans X1, 472
v 2. 665
X 3. 500
< 4. 600

Question ID : 8161611624
Status : Answered
Chosen Option : 2
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Q9 How many squares are there in the following figure?

< 2 30
< 3. 60
X4 53

Ans  of 1. 48

Question ID : 8161611639

Not Attempted and
Marked For Review

Chosen Option : --

Status:

series.

__m_ozmz__no_ _

Ans X" 1. nznnzzn
& 2. zznznzm
/< 3. znzmznn
o 4 zznzmzn

ZZm

Q.10 Select the combination of letters that when sequentially placed in the blanks of the given letter series will complete the

Question ID : 8161611631
Status : Answered
Chosen Option : 4

50:357

Ans  of 1. 18
<215
X3 17;
X4 20:

133
115
136
153

Q.11 Select the option in which the numbers share the same relationship as that shared by the given number-pair.

Question ID : 8161611621
Status : Answered
Chosen Option : 1
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Q.12 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even

if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow from

the statements.
Statements:

1. Some buns are tarts

2. All tarts are pastries.
3. All pastries are breads.
Conclusions:

1. Some breads are buns.
II. Some pastries are buns.
III. Some tarts are buns.

IV. Some buns are breads.

Ans 1. Only conclusions II and III follow.
7< 2. Only conclusions I and IV follow.
#< 3. Only conclusions I and II follow.

o 4 All the conclusions follow.

Question ID : 8161611636
Status : Answered
Chosen Option : 4

Q13 Arrange the given words in a logical and meaningful sequence.

1. Sun
2. Asteroid
3. Planet

4. Galaxy
Ans  X"1.2,3,4,1
X2 4,1,3,
Vs 41,3,
X 4 3,1,4,

[ T

[

Question ID : 8161611626

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Ans

figures. How would this paper look when unfolded?

— D] o] —

,,,,,,,,,,

W X Y
AN
AN

7oy <9

Gy

N Y

Celld

S

Sl

v &)

Q.14 The sequence of folding a paper and the manner in which the folded paper has been cut is shown in the following

Question ID : 8161611641
Status : Answered
Chosen Option : 2

Ans

v 190
K275
< 3. 65
< 4 85

Q.15 The sum of the ages of 4 friends A, B, C and D is 70 years. What would be the total of their ages 5 years later?

Question ID : 8161611619
Status : Answered
Chosen Option : 1

Ans

letter-cluster.

X 1. UVS
< 2 HIF
v 3 LMH
X4 YZW

Q.16 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd

Question ID : 8161611634
Status : Answered
Chosen Option: 3
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Q.17 Select the option figure that can replace the question mark (?) in the following series.

?

FIGURE 1 FIGURE 2 FIGURE 3 FIGURE 4

Ans

%

%

v &

&

r

o

Question ID : 8161611638
Status : Answered
Chosen Option : 4

Q.18 Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the
number-pair that is different from the rest.

Ans 1. 054 : 549
< 2 198 : 981
'3 246 : 426
X 4132:321

Question ID : 8161611625
Status : Answered
Chosen Option : 3
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Q.19 In a certain code language, 'JACKET is written as 'MEHQLB'. How will BLAZER' be written as in that langnage?

Ans  of 1. EPFFLZ
X 2. DQPGLY

X 3. EQFGLY
X 4 DOEFLZ

Question ID : 8161611627
Status : Answered
Chosen Option : 1

Q.20 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

26 25 ?
4 6 7 1

Ans JT 17
<219
K324
X422

wn
w

QuestionID : 8161611623

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 Select the option in which the words share the same relationship as that shared by the given pair of words.

Cow : Byre

Ans o 1. Owl : Barn
#< 2. Rat : Rodent
#< 3. Nun : Monk
/< 4. Stag : Doe

Question ID : 8161611633
Status : Marked For Review
Chosen Option : 2
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Q22 gelect the correct mirror image of the given figure.

TR

MIRROR
Ans

QPO

Question ID : 8161611642
Status : Answered
Chosen Option : 4

Q.23 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

CELH : GANF :: BUPO : ?
Ans  of 1 FQRM
< 2 DYXH
& 3 HUML
& 4 XYNQ

Question ID : 8161611629
Status : Answered
Chosen Option : 1
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Q.24 Select the option in which the numbers are related in the same way as are the numbers in the given set.

(12, 96. 8)

Ans %1 (15,50, 5)
V2 (7,63,9)
/< 3 (13,39, 4)
/X 4. (8,40, 6)

Question ID : 8161611622
Status : Answered
Chosen Option : 2

Q.25 Select the correct combination of mathematical signs to replace ‘A’ sequentially and balance the following equation.
16 ABAGA3A4
Ans i —
x 1. sy H +: i

xz x1=~_5+
K3 R = —
o+ ox, = x

Question ID : 8161611620
Status : Answered
Chosen Option : 4
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